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Problem 1 (10 pts):

In a game, a person rolls a die and then flips a fair coin several times equal to the number observed
on the dice. The probability of observing any number on the dice is directly proportional to the number
itself. Let A represent observing at least four heads when ﬂ1ppmg the coin. Compute P(A).
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Problem 2 (5+5 pts):

A factary has two production lines; A and B. The probability that production line A fails is 20%. The
probability that production line B fails is 10%, and the probability that both production lines fail is
4%. What is the probability that:

a} atleast one of the productlon lines will stay working?
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